

PJECTIVE MODULES AND A GENERALISATION OF LIFTING MODULES

Y. Talebi and T. Amoozegar

*Department of Mathematics, Faculty of Science
University of Mazandaran, Babolsar, Iran
e-mail: talebi@umz.ac.ir
e-mail: t.amoozegar@umz.ac.ir*

Abstract

We introduce the notions of M -pjective modules. We show that relative pjectivity is necessary and sufficient for a direct sum of two lifting modules to be lifting. We also introduce the new concept of generalized lifting modules, and give some properties of such modules in analogy with the know properties for lifting modules.

1. Introduction

Throughout this paper R will denote an arbitrary associative ring with identity and M will be unital right R -module and $S = \text{End}(M)$ is the ring of R -endomorphisms of M . Submodules of M will be right R -submodules, while one sided ideals for these rings will be right ideals for R and right ideal for S , respectively. We reserve the term "ideal" for the two-sided ideals in both rings. The notation $N \leq^{\oplus} M$ denotes that N is a direct summand in M ; $N \ll M$ means that N is small in M (i.e. $\forall L \leq M, L + N \neq M$). A module N is said to be *small* if $N \ll L$, for some module L . For $N, L \leq M$, N is *supplement* of L in M if $N + L = M$ with $N \cap L \ll N$. Following [10], a module M is called *supplemented* if every submodule of M has a supplement in M . On the other hand, the module M is *amply supplemented* if, for any submodules A, B of M with $M = A + B$ there exists a supplement P of A in M such that $P \leq B$. Module M is called a *weakly supplemented* module if for each submodule A of M there exists a submodule B of M such that $M = A + B$ and $A \cap B \ll M$.

Key words: Pjective modules; Lifting modules; \oplus -Supplemented modules.
2000 AMS Mathematics Subject Classification: 16D40, 16D90

M is called \oplus -supplemented if every submodule of M has a supplement that is a direct summand of M .

Let M be a module and $B \leq A \leq M$. If $A/B \ll M/B$, then B is called a *cosmall* submodule of A in M . A submodule A of M is called *coclosed* if A has no proper cosmall submodule.

A module M is *lifting* if for every submodule A of M , there is a decomposition $M = M_1 \oplus M_2$ such that $M_1 \leq A$ and $M_2 \cap A \ll M$. By [7, Proposition 4.8], M is lifting if and only if M is amply supplemented and every supplement submodule of M is a direct summand.

Generalized relative injectivity was renamed as *ojective* by Mohamed and Muller (in [8]) in honour of Oshiro. They also dualised the concept of ojective modules in two ways, namely to cojective and *cojective modules(see [9]).

Here we introduce the concept of M -pjectivity, which is a generalization of M -*cojectivity.

A module N is *M -pjective* if every supplement of M in $M \oplus N$ is a direct summand. If N is M -pjective and M is N -pjective, we say that N and M are relatively pjective. The problem of finding a satisfactory necessary and sufficient condition for a direct sum of lifting modules to be lifting is still open. We show that relative pjectivity is necessary and sufficient for a direct sum of two lifting modules to be lifting. We also introduced the concept of generalized lifting modules, and give sum properties of such modules in analogy with properties for lifting modules.

2. M -Pjective Modules

Definition 1 Let $M = A \oplus B$. Then B is called *A -pjective* if every supplement C of A in M is a direct summand.

Lemma 2.1 Let A and B be submodules of a module M with $A + B = M$. Then A is a supplement of B in M if and only if A is a coclosed submodule of M and $A \cap B \ll M$.

Proof It is easily checked by [6, Lemma 1.1]. □

Lemma 2.2 Let $M = M_1 \oplus M_2$ and $N, L \leq M_1$. If N is a supplement of L in M_1 , then:

- (1) $N \oplus M_2$ is a supplement of L in M .
- (2) N is a supplement of $L \oplus M_2$ in M .

Proof (1) [3, Lemma 2.2]

(2) Let N be a supplement of L in M_1 . Then $M_1 = N + L$ and N is minimal with this property. It is easy to see that $M = N + (L \oplus M_2)$. Let $X \leq N \leq M_1$

such that $M = X + (L \oplus M_2)$. Hence $X + L = M_1$. Since N is a supplement of L in M_1 we will have $X = N$. \square

Lemma 2.3 *Let $K \leq L \leq M$. If K is coclosed in M , then K is coclosed in L and the converse is true if L is coclosed in M .*

Proof [4, Lemma 2.6]. \square

Lemma 2.4 *Let $M = A \oplus B$, where B is A -projective. If $A = A_1 \oplus A_2$ and $B = B_1 \oplus B_2$. Then (for $i, j = 1, 2$);*

- (1) B_i is A -projective;
- (2) B is A_j -projective;
- (3) B_i is A_j -projective.

Proof For (1), write $N = A \oplus B_1$, and let X be a supplement of A in N . By Lemma 2.2, $X \oplus B_2$ is a supplement of A in M . As B is A -projective, $M = X \oplus B_2 \oplus K$ for some $K \leq M$. Hence $N = X \oplus (N \cap (B_2 \cap K))$.

For (2), write $L = A_1 \oplus B$, and let Y be a supplement of A_1 in L . By [6, Lemma 1.1], it is easy to see that A_1 is a supplement of Y in L . Then A is a supplement of Y in M by Lemma 2.2(1). Again by [6, Lemma 1.1] Y is supplement of A in M . As B is A -projective, $M = Y \oplus K$ for some $K \leq M$. Hence $L = Y \oplus (K \cap L)$.

(3) Follows from (1) and (2). \square

Definition 2 A module M is called an *absolute relative projective* module (for short *ARPJ*-module) if M_i is M_j -projective ($i \neq j$); whenever $M = M_1 \oplus M_2$.

Clearly every lifting module is an *ARPJ*-module and any indecomposable module is obviously an *ARPJ*-module, which is not lifting. The following Proposition gives the relation between lifting modules and *ARPJ*-modules.

Proposition 2.5 *The following are equivalent for a module M :*

- (1) M is a lifting module;
- (2) M is an amply supplemented, \oplus -supplemented and *ARPJ*-module.

Proof (1) \Rightarrow (2) It is trivially.

(2) \Rightarrow (1) Let C be a coclosed submodule of M . Since M is \oplus -supplemented, C has a supplement in M which is a direct summand; i.e. M has a decomposition $M = M_1 \oplus M_2$, where $M_2 \cap C \ll M$. Since M is a *ARPJ*-module, M_2 is M_1 -projective. From Lemma 2.1, C is a supplement of M_2 in M and so $C \leq^\oplus M$. Therefore M is lifting. \square

Proposition 2.6 *Let $M = M_1 \oplus M_2$. If M_1 is M_2 -projective, then M_1 is M_2 -projective.*

Proof It is easily checked by [3, Proposition 3.3] \square

Let M be a module. Recall that M is called a (D_3) -module, if $M = A + B$ where A and B are direct summands of M , then $A \cap B$ is a direct summand of M .

Let M_1, M_2 be modules. Following [6], the module M_1 is small M_2 -projective if every homomorphism $f : M_1 \rightarrow M_2/A$, where A is a submodule of M_2 and $Im f \ll M_2/A$, can be lifted to a homomorphism $\phi : M_1 \rightarrow M_2$.

Theorem 2.7 *Let $M = M_1 \oplus M_2$ be an amply supplemented (D_3) -module . If M_1 is M_2 -pjective, then M_1 is M_2 -projective.*

Proof Let N be a submodule of M such that $(N + M_1)/N \ll M/N$. Then $M = N + M_2$. Since M is amply supplemented there exists a submodule N' of M such that $N' \leq N, M = N' + M_2$ and $N' \cap M_2 \ll N'$, that is, N' is a supplement of M_2 in M . Since M_1 is M_2 -pjective, $M = N' \oplus K$ for some $K \leq M$. Since M is (D_3) , $N' \cap M_2$, is a direct summand of M , and so $M = N' \oplus M_2$. By [6, Lemma 2.4], M_1 is small M_2 -projective. Hence by [2, Proposition 14.17], M_1 is M_2 -projective. \square

Lemma 2.8 *Let $M = A \oplus B$ where A is B -pjective and B is lifting. If X is a coclosed submodule of M with $M = X + B$, then X is a summand of M .*

Proof Let $M = X + B$. Since B is lifting, there exists a direct summand B_1 of B such that $B = B_1 \oplus B_2$ and $B_1 \leq X \cap B, X \cap B_2 \ll B_2$. Now $M = A \oplus B_1 \oplus B_2$. Write $N = A \oplus B_2$. Then $X = B_1 + X_1$, where $X_1 = X \cap N$. Hence $M = X + B = X_1 + B_1 + B_2$, and so $N = X_1 + B_2$. Clearly $X_1 \cap B_2 = X \cap B_2 \ll B_2$. Then B_2 is a supplement of X_1 in N . Now X_1 is coclosed submodule of X , and X is coclosed submodule of M . It follows by Lemma 2.3 that X_1 is coclosed in N . It is easy to see that X_1 is a supplement of B_2 in N . Now A is B_2 -pjective, by Lemma 2.4. Thus we get that X_1 is a direct summand of N , and therefore is a direct summand of M . \square

The following is a necessary and sufficient condition of a direct sum of two lifting modules to be lifting.

Theorem 2.9 *Let $M = M_1 \oplus M_2$ be an amply supplemented module. Then M is lifting if and only if the M_i is lifting, and is M_j -pjective, $i \neq j (= 1, 2)$.*

Proof It follows from Lemma 2.8, and [6, Theorem 2 .1]. \square

3. Generalized Lifting Modules

Definition 3 A module M is called a *generalized* lifting module (for short a *GL*-module) if the following condition satisfied: If $M = M_1 \oplus M_2$ and $A \leq M$, then there exist $C_i \leq^\oplus M_i (i = 1, 2)$ such that $C_1 \oplus C_2$ is a supplement of A in M .

Observe that from the definition of GL -modules, every GL -module is \oplus -supplemented module.

In the following we are going to show that every lifting module is a GL -module, and also give the relations between \oplus -supplemented modules and GL -modules.

Theorem 3.1 (cf. [5]) *For any ring R , any finite direct sum of \oplus -supplemented R -modules is \oplus -supplemented.*

Remark 3.2 In the proof of the Theorem 3.1 we obtain that for any submodule L of $M = M_1 \oplus M_2$, there exists a supplement $K \oplus H$ of L , where $K \leq^\oplus M_1$ and $H \leq^\oplus M_2$. Therefore we have the following Corollary.

Corollary 3.3 *The following are equivalent for a module M :*

- (1) M is a GL -module.
- (2) Every direct summand of M is a \oplus -supplemented module.

Proof (1) \Rightarrow (2) Let $M = M_1 \oplus M_2$ and $A \leq M_1$. Since M is GL -module, there exist $C_i \leq^\oplus M_i (i = 1, 2)$, such that $C_1 \oplus C_2$ is supplement of A in M . Therefore $A + (C_1 \oplus C_2) = M$, hence $A + C_1 = M_1$. Since $C_1 \cap A \leq (C_1 \oplus C_2) \cap A \ll M$, $C_1 \cap A \ll C_1$. Therefore M_1 is \oplus -supplemented.

(2) \Rightarrow (1) It is easily checked by Remark 3.2. □

Corollary 3.4 *Let $M = \bigoplus_{i=1}^n M_i$ be a finite direct sum of modules. If each M_i is \oplus -supplemented, then M is GL -module.*

Corollary 3.5 *Direct summands of a GL -module are GL -modules.*

Proof It is an immediate consequence of Corollary 3.3. □

Corollary 3.6 *Every lifting module is a GL -module.*

Proof Since every direct summand of lifting module is lifting, hence is \oplus -supplemented. □

Example 3.7 Let p be any prime integer. \mathbb{Z} -Module $\mathbb{Z}/p\mathbb{Z} \oplus \mathbb{Z}/p^3\mathbb{Z}$ is not lifting (see [7, Proposition A.7]), but is GL -module.

We say that a module M has *hollow dimension* n , if there exists a small epimorphism from M to a direct sum of n hollow modules.

Corollary 3.8 *Let M be \oplus -supplemented and finite hollow dimensional module. Then M is a GL -module.*

Proof We prove by induction on the hollow dimension of M . It is clear that every hollow module is a GL -module. Now let M be a module of hollow dimension n . Since every nonzero proper summand submodule of M has hollow dimen-

sion less than n , by induction it is a GL -module; and hence is \oplus -supplemented. Therefore by Corollary 3.3 M is a GL -module \square

The following implications are now clear for a module M :

Lifting module $\Rightarrow GL$ -module $\Rightarrow \oplus$ -Supplemented module.

Corollary 3.9 *The following are equivalent for a module $M = \oplus_{i=1}^n M_i$:*

- (1) *The $M_i (i = 1, 2, \dots, n)$ is \oplus -supplemented;*
- (2) *Each submodule of M has a supplement in M of the form $\oplus_{i=1}^n N_i$, where $N_i \leq^{\oplus} M_i (i = 1, 2, \dots, n)$.*

Proof (1) \Rightarrow (2) By induction on the number n of the summands M_i of M , for $n = 1$ it is clear. If $n = 2$, it follows by Remark 3.2.

(2) \Rightarrow (1) Let $L \leq M_i \leq M$. By assumption L has a supplement in M of the form $\oplus_{i=1}^n N_i$, where $N_i \leq^{\oplus} M_i (i = 1, 2, \dots, n)$. Then $L + \oplus_{i=1}^n N_i = M$. Hence for each i , $L + N_i = M_i$, $L \cap N_i \leq L \cap (\oplus_{i=1}^n N_i) \ll M$. Therefore $L \cap N_i \ll M_i$. Hence M_i is \oplus -supplemented. \square

Proposition 3.10 *Let M be a \oplus -supplemented module. Then it has a decomposition $M = M_1 \oplus M_2$, where M_2 is a cosmall submodule of $Rad(M)$ in M .*

Proof Since M is \oplus -supplemented, there exists a decomposition $M = M_1 \oplus M_2$, such that $Rad(M) \cap M_1 \ll M$ and $Rad(M) + M_1 = M$. We have $Rad(M) = Rad(M_1) \oplus Rad(M_2)$. Then $M = M_1 \oplus Rad(M_2)$. Hence $M_2 = Rad(M_2)$, therefore $Rad(M) = Rad(M_1) \oplus M_2$. Now we show that $Rad(M)/M_2 \ll M/M_2$. Let $Rad(M)/M_2 + L/M_2 = M/M_2$ for some $L \supseteq M_2$. Then $M = Rad(M) + L = (Rad(M_1) \oplus M_2) + L = Rad(M_1) + L$. Since $Rad(M_1) = Rad(M) \cap M_1 \ll M$, hence $L = M$. \square

Proposition 3.11 *If M is a GL -module with finite hollow dimension, then M is a finite direct sum of hollow submodules.*

Proof Since M has a finite hollow dimension, then M is a direct sum of indecomposable submodules. By Corollary 3.5, the indecomposable summand of M are GL -modules, and hence, by [5, Lemma 2.14] are hollow modules. \square

Remark 3.12 Consider a direct sum of hollow modules, which contains an indecomposable and not hollow summand submodule. This module is \oplus -supplemented [5, Corollary 1.6], which is not a GL -module (by [5, Lemma 2.14] and Corollary 3.3). This also shows that direct summands of \oplus -supplemented modules need not be \oplus -supplemented.

Lemma 3.13 *Let $A \leq B \leq^{\oplus} M$. If C is a supplement of A in M , then $C \cap B$ is a supplement of A in B .*

Proof Since C is supplement of A in M , $C + A = M$ and $C \cap A \ll M$. Then

$(C \cap B) + A = B$, and $C \cap B \cap A = C \cap A \ll M$. □

Theorem 3.14 *If M is a \oplus -supplemented, and satisfies in this condition that for every two direct summands N_1 and N_2 of M such that $N_1 \cap N_2$ is coclosed in M , implies that $N_1 \cap N_2$ is a direct summand of M . Then M is a GL -module.*

Proof Let $B \leq^{\oplus} M$ and $A \leq B$. Since M is a \oplus -supplemented, there exists a supplement K of A in M such that $K \leq^{\oplus} M$. By Lemma 3.13, $K \cap B$ is a supplement of A in B ; and hence a coclosed submodule of B . By assumption, $K \cap B \leq^{\oplus} M$. This shows that any summand B of M is \oplus -supplemented. Therefore M is GL -module. □

References

- [1] F.W. Anderson and K.R. Fuller, "Rings and Categories of Modules", Springer-Verlag, New York, 1992.
- [2] J. Clark, C. Lomp, N. Vanaaja and R. Wisbauer, "Lifting Modules", Frontiers in Mathematics, Birkäuser Verlag, 2006.
- [3] W. Dejun, *On Direct Sums of Lifting Modules and Internal Exchange Property*, J. Kyngpook Math., **46**(2006), 11-18.
- [4] L. Ganesan and N. Vanaaja, *Modules for which every submodule has a unique coclosure*, Comm. Algebra., **30**(5)(2002), 2355-2377.
- [5] A. Harmanci, D. Keskin and P.F. Smith, *On \oplus -supplemented Modules*, Acta Math. Hungar., **83**(1-2)(1999), 161-169.
- [6] D. Keskin, *On lifting modules*, Comm. Algebra., **28**(7)(2000) 3427-3440.
- [7] S. M. Mohamed and B. J. Müller, "Continuous and Discrete Modules", London Math. Soc. Lecture Notes Series 147, Cambridge, University Press, 1990.
- [8] S. M. Mohamed and B. J. Müller, *Ojective modules*, Comm. Algebra., **30**(4)(2002), 1817-1827.
- [9] S. M. Mohamed and B. J. Müller, *Cojective modules*, J.Egyptian Math., **12**(2004), 83-96.
- [10] R. Wisbaure, Foundations of Module and Ring Theory, Gordon and Breach: Philadelphia, 1991.